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  = 1000mm  

 
 

- k = L  2.  Lk = 30  2 1 = 28m 
- k = 
28m  Hc = 4000mm ; B1 = 400mm 

 
 

- 1 = 10,0m.  
-  

 H2 = Hc + f + 0,1 = 4,0 + 0,3 + 0,1 = 4,4m   
 

-  
  Hsd = H1 + H2 = 10,0 + 4,4 = 14,4m 

 

-   r = 0,2(m) 

mBHdct 75,06,06
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1  dct = 0,7m 

  Ht = H2 + Hdct + Hr = 4,4 + 0,7 + 0,2 = 5,3m. 

 
 

 

-  
Hd = Hsd  Ht + H3 = 14,4  3  

 

-  

mHh tt 442,053,03,5
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=0,5m. 

 
 

-  
=0,4+(0,5-  

 

-  hd = a +  = 0,5 + 1,0 = 1,5m. 
-  H = Ht + Hd = 5,3 + 10,1 = 15,4m. 

 

1a  
b - 

k = 28m  
Hc = 4000mm  B = 8800mm  B1 = 400mm   
K = 4560mm  Gxc = 420kN  Gct = 1450kN  
P1max = 460kN ;  P2max = 470kN;  P1min = 150kN ;  P2min = 150kN ; = 
17,7kN 
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Dmax = 1,1 0,85 [460 0,1+470 (0,86+1+0,557+0,417)]=1288,4kN 

 

 
0.  

 
Dmin = 1,1 0,85 [152,5 0,1+142,5 (0,86+1+0,557+0,417)]=319,9kN 
(Dmin = 1,1 0,85 [150 0,1+150 (0,86+1+0,557+0,417)]=411,49kN) 
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ctmaxmin ;G;DD   
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he d 7,5,  

Mmax = Dmax e = 3,96675,04,1288 kNm 

 
0.2  

Mmin = Dmin e = kNm89,29375,049,319  
(Mmin = Dmin x e = 411,49 x 0,75 = 308,62kNm 
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48,7kN  0,417)0,55710,86(0,117,750,851,1
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(T = 48,55kN) 
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c 
A = 2 2,6 + 1,2 44,8 = 261,76cm2. 

 
 

Ix = 2. +  = 125.940,2cm4. 0.5  
 

ix =  = 21,93cm. 
 

   Wx =  = 5.037,6cm3.  
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Ki m tra theo nh x-x:      

 =  = 32,82 ;  = 32,82     = 1,013. 

 
 

m=  = ;   e =  ;  

   
 

 = 1,93 

 

 

 

;    

  e 
 = 0,1771,  
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